
D O O R S

3  x  6.5 ’
 Y e l l o w  M e s h
 1 1 4 4 7 4

 B l a c k  M e s h
 1 1 4 4 7 5

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 7 6
 
3  x  8
 Y e l l o w  M e s h
 1 1 4 4 8 3

 B l a c k  M e s h
 1 1 4 4 8 4

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 8 5

P A N E L  S I Z E  A N D 
I T E M  N U M B E R

A
D

D
 O

N
S

Once your order arrives, connect 
the pre-fabricated panels using the 

included hardware, and fasten to the 
floor.

Send us a picture of your project and we’ll 
send you a t-shirt! 

tslotsinfo@bonnellaluminum.com

Sketch the footprint of the guarding 
complete with dimensions and doors.

Consult with the TSLOTS distributor to 
determine which panels will work best 

for your needs.

3 x 6.5’

6”

3 x 8

6”

V.5 - Dec /21
ISO 9001 REGISTERED

www.tslots.com

R
E

L
I

A
B

L
E

.
 

R
E

S
P

O
N

S
I

V
E

.
 

R
E

L
I

A
B

L
E

.
 

R
E

S
P

O
N

S
I

V
E

.
 

R
E

L
I

A
B

L
E

.
 

R
E

S
P

O
N

S
I

V
E

.
 

R
E

L
I

A
B

L
E

.
 

R
E

S
P

O
N

S
I

V
E

.
 

R
E

L
I

A
B

L
E

.
 

R
E

S
P

O
N

S
I

V
E

.
98

20
94

/1
0-

20
21

I N C L U D E D  C O N N E C T I N G  H A R D W A R E

A S S E M B L Y  I N S T R U C T I O N S

S T A N D A R D  &  D O O R  P A N E L S

6 5 3 1 4 0 - 3 Hole Joining Strip

6 5 1 1 2 9 - 5/16-18 Fastening Bolts

6 8 3 1 0 0 - Cap Nut

6 5 1 0 8 0 - M6 Washer

6 7 1 3 5 2 - M6 Hammer Screw

P I V O T  P A N E L S

6 5 5 6 8 0 - Plastic Hinge

6 5 1 1 8 0 - 1/4-20 x 5/8” FHSCS

6 5 1 6 4 4 - 1/4-20 Drop-In Tnut

DETAIL A

M6 WASHER

M6 HAMMER SCREW

DETAIL A



3 x 8

6”

S T A N D A R D

P I V O T

SHORT LEAD TIMES

Pre-fabricated panels will allow you to minimize        
engineering and design time
 
MODULAR

Need to modify or add something to the guarding? 
Simply order the additional parts and install as needed 
on-site
 
EASY ASSEMBLY AND INSTALLATION

The panels arrive assembled and ready to connect to 
each other. Simply link them together and fasten to the 
floor.

TSLOTS uses pre-fabricated panels of varying widths 
and heights that quickly link together to create a 
custom guarding solution.

A D V A N T A G E S

C O N C E P T
P I V O TS T A N D A R D

1  x  6
 Y e l l o w  M e s h
 1 1 4 4 8 6

 B l a c k  M e s h
 1 1 4 4 8 7

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 8 8

1  x  8
 Y e l l o w  M e s h
 1 1 4 4 9 2

 B l a c k  M e s h
 1 1 4 4 9 3

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 9 4

1  x  6
 Y e l l o w  M e s h
 1 1 4 4 8 9

 B l a c k  M e s h
 1 1 4 4 9 0

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 9 1
 
1  x  8
 Y e l l o w  M e s h
 1 1 4 4 9 5

 B l a c k  M e s h
 1 1 4 4 9 6

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 9 7

3  x  6
 Y e l l o w  M e s h
 1 1 4 4 6 8

 B l a c k  M e s h
 1 1 4 4 6 9

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 7 0
 
3  x  8
 Y e l l o w  M e s h
 1 1 4 4 7 7

 B l a c k  M e s h
 1 1 4 4 7 8

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 7 9

3  x  6
 Y e l l o w  M e s h
 1 1 4 4 7 1

 B l a c k  M e s h
 1 1 4 4 7 2

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 7 3
 
3  x  8
 Y e l l o w  M e s h
 1 1 4 4 8 0

 B l a c k  M e s h
 1 1 4 4 8 1

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 8 2

4  x  6
 Y e l l o w  M e s h
 1 1 4 4 5 6

 B l a c k  M e s h
 1 1 4 4 5 7

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 5 8
 
4  x  8
 Y e l l o w  M e s h
 1 1 4 4 6 2

 B l a c k  M e s h
 1 1 4 4 6 3

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 6 4

4  x  6
 Y e l l o w  M e s h
 1 1 4 4 5 9

 B l a c k  M e s h
 1 1 4 4 6 0

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 6 1
 
4  x  8
 Y e l l o w  M e s h
 1 1 4 4 6 5

 B l a c k  M e s h
 1 1 4 4 6 6

 C l e a r  P o l y c a r b o n a t e
 1 1 4 4 6 7

P A N E L  S I Z E  A N D 
I T E M  N U M B E R

P A N E L  S I Z E  A N D 
I T E M  N U M B E R

P A N E L  S I Z E  A N D 
I T E M  N U M B E R

P A N E L  S I Z E  A N D 
I T E M  N U M B E R

P A N E L  S I Z E  A N D 
I T E M  N U M B E R

P A N E L  S I Z E  A N D 
I T E M  N U M B E R

Connects With Joining Strips 
Assemble In a Straight Line Or At 90 Degrees

4 x 6

6”

3 x 8

6”

3 x 6

6”

4 x 6

6”

4 x 8

6”

3 x 6

6”

1 x 6

6”

1 x 8

6”

1 x 6

6”

D O O R S
Connects With Joining Strips 

Place Anywhere a Door Is Required

Connects With Hinges 
Used To Create Custom Angles In Guarding

1 x 8

6”

4 x 8

6”


